Precalculus Worksheet: Introduction to Vectors

Part I: Sketch the following vectors.

Initial point (3, 2) and terminal point (-4,5)

5. 3N at 50° south of west
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2. <5,-3>
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6. 70 mph at 8° east of south
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Part Il: Find the a) component form b) linear combination form, c) magnitude and direction of each vector
given the initial point and terminal point, respectively.
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Part lll: Find the resultant vector

9. u=<3,1>,v=<-2,4>
Find u—3v
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10. u=<-1,-3>,v=<2,0>
Find 2u+v
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11. u=2i+j, v=23i—4j
Find v—4u
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Given u = <-3, 8>, v =<6, -2>, and w =<-4 ,-3>, Find the following. Write answers in component form and
linear combination form if the answer is a vector.
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Find the component form of the vector. Via] -J[‘]"* £ 3 ' b e
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Find the ma_gﬂtude and dlrectlon of the vector.
23. <14,-18> Q L 24, -7i +9j Qg\ 25. <-18, -25> Q%
i
. - g 4
= i, ~36.2
12,9 (30 | GHq ~3
=) [ =25
-t g 0 > o (:fg
Tan ‘_*,—;\ 2 ~5d, | 2 -5 i}
+ 30° X [30 /i_SL;D;
; H— PR - g0
L e o

1a7.9° 34.2°



